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3.1 �����
���	

������
�	�����	��	�������������������� 

3.1.1 ��	���� !��	��	����
������������������ 


��		

����������������
���� �!���� 
���
��		

����H� 4 ���� ������             
����C�� (Head section) ����
��� (Middle section) �������� (Lower section) ��� (Column) 
�	����I��� 3 ���� 
������R���	� (Base section) ���%�������	����	��!�
C���
�������	�

��>�
�������� 
�������� ���
	� 3-1  
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�������	
��� 3-1 ��������� 
- F1 ��� �	�������� �!�"���� 1 �	
���#$�%$&�� & (Head section)  
- F1  ��� �	��������!����3#$������� 1 �	
���#$�%$&�� & (Head section) 
- F2  ��� �	�������� �!�"���� 2 �	
���#$�%$&��"�� (Middle section) 
- F3 ��� �	�������� �!�"���� 3 �	
���#$�%$&�"$�� (Lower section)  
- F4 ��� �	�������� �!�"���� 4 �	
���#$�%$&�;�� (Base section)  
- !%� 1 (Column 1) ��� !%����	 ��@���� �	
��� �!�"�����"
A�	�%	���� @� 3 �B@�%$&� ( Head 

section Middle section �"
 Lower section) ���!#�C� 
- ����!����3#$� 1 (Link 1) ����B@�%$&�!����3#$� (Link) ����$&C���� ������	!�"����������     

%$&�;�� (Base section) �CE$��	
��� 
- �@���� �������	
���#$�%$&�� & (Head section)  = 300  �B&# �  
- �@���� �������	
���#$�%$&��"�� (Middle section)  = 1,000  �B&# �  
- �@���� �������	
���#$�%$&�"$�� (Lower section)  = 600  �B&# �  
- �
J��&$� �	�������	
���#$�%$&�� & = �@���� ��� + �@���� �A�	�%	��� (200 �B&# �) 

= 300 + 200 = 500 �B&# � 
- �
J��&$� �	�������	
���#$�%$&��"�� = �@���� ��� + �@���� �A�	�%	��� (300 �B&# �) 

= 1,000 + 300 = 1,300 �B&# � 
- �
J��&$� �	�������	
���#$�%$&�"$�� = �@���� ��� + �@���� �A�	�%	��� (300�B&# �) 

  = 600 + 300 = 900 �B&# � 

1) ����	�
��
��
��� (Head section)  

���!�#��	!�"����������%$&�� & (Head section) �CE$���$&� 30O OP� -30O � �� @���	����&Q
!������ F1 ���3��$�3��%�� (F1max) !�������J�����&Q���������3�!#�	S#�����$���	����&Q!�T�    
3 �	Q� ���#�����$���	!�"����%$&�� & (Head section) ����CE$��� 30O, 0O �"
 -30o ��U�#�3"��� �    
A�C#�����$�����	�����	
��� �%��� �����	
��� 3-2 �B��	Q��	�����	
���#$�%$&�� &     
(Head section) J����$ 
 - �	�������	
���#$��B@�%$&����%$&�� & (Head section) 500 �B&# � 
 - F1 ����	�������� �!�"���� 1 �	
���#$�%$&�� & (Head section) 
 - �	� F1 ����	��������!����3#$����� �!�"������� 1 �	
���#$�%$&�� & (Head section)  
 - RO1 �	��WB�B	BC� Q ��� O1 
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����	
��� 3-2 Free body diagram ���%$&�� & (Head Section) 
 
 ��	����&Q���$� F1 ���3��$�3��%�� (F1max) �B��	Q���� 3 �	Q� � ���@ 
  1.1) ���	� F1 �	Q����%$&�� & (Head Section) !�"�������3�3 30o A�C���S�	
���
����	�����	
���#$�A�	�%	���%$&�� & (Head Section) �%��� �����	
��� 3-3 
 

 
 

����	
��� 3-3  Free body diagram ��� Head section Q #�����$� 30o 
 
�� F1 �����	�B��	Q�A3!3�#S	����� O1 �
J��   
       (500 cos30o  x 0.2) + (F1 sin10

o  x 0.2) =  F1 cos10
o x 0.13 

               F1 =  928.26 N 
�B��	Q�_"	&3�	�����&�B��!�T�UE�CS 
    500 ` F1 sin20

o =  RO1 
                500 ` 928.26 sin20o  =  RO1 
                        RO1  =  182.52 N 

!3����B��	Q��	� F1 (�	�������� �!�"���� 1 �	
���#$� Head section) !�T��	�����CE$����&
	
���  � �� @����!�T�#����#��	��������&QJ�� (F1) ����CE$����&	
���J��� ���@ 

NF 28.87220cos26.9281 == ο  
� �� @� F1 �	���	�������� �!�"���� (1) �	
���#$� Head section 3��$� 872.28 �B&# � 
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  1.2) ���	� F1 �	Q����%$&�� & (Head section) !�"�������3�3 0O A�C���S�	
���
����	�����	
���#$�A�	�%	���%$&�� & (Head section) �%��� �����	
��� 3-4 
 

 
 

����	
��� 3-4  Free body diagram ���%$&�� & (Head section) Q #�����$� 0o 
 
�� F1 �����	�B��	Q�A3!3�#S	����� O1 �
J��   
                500 x 0.2  =  F1 x 0.13 
                           F1 =  769.23 N 
�B��	Q�_"	&3�	�����&�B��!�T�UE�CS 
                  RO1 =  500 N 

�	� F1 ����	�������� �!�"���� 1 �	
���#$�%$&�� & (Head section) 3��$�!�$�� ��	� F1 
!���������	��������&QJ��!�T��	�����CE$����&	
��� � �� @� F1 �	���	�������� �!�"���� 1 �	
���
#$�%$&�� & (Head section) 3��$�!�$�� � 769.23 �B&# � 
  1.3) ���	� F1 �	Q����%$&�� & (Head section) !�"�������3�3 -30o A�C���S�	
���
����	�����	
���#$�A�	�%	���%$&�� & (Head section) �%��� �����	
��� 3-5 
 

 
 

����	
��� 3-5 Free body diagram ���%$&�� & (Head section) Q #�����$� -30o 
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�� F1 �����	�B��	Q�A3!3�#S	����� O1 �
J��   
                             (500 cos30o x 0.2) =  (F1 cos14

o x 0.13)+(F1 sin14
o x 0.2) 

                           F1 =  496.22 N 
�B��	Q�_"	&3�	�����&�B��!�T�UE�CS 
                                          500 + F1 sin16o  =  RO1 
                                                 RO1 =  636.78 N 

!3����B��	Q��	� F1 (�	�������� �!�"���� 1 �	
���#$�%$&�� & (Head section)) !�T��	�����CE$
����&	
���� �� @����!�T�#����#��	��������&QJ�� (F1) ����CE$����&	
���J��� ���@  

NF 99.47616cos78.6361 == ο  
� �� @� F1 �	���	�������� �!�"���� 1 �	
���#$�%$&�� & (Head section) 3��$� 476.99 �B&# � 
 
 !3����B��	Q�� @� 3 �	Q� ��&$��$���� F1 ���3��$�3��%�� (F1max) 3��$� 928.26 �B&# � ���	Q���� 
%$&�� & (Head section) !�"�������3�3 30o ���S�	
�������	�����	
���#$�%$&�� & (Head section) 
�%��� �����	
��� 3-3  
 �" �������J������&Q���$���� F1 ���3��$�3��%�� (F1max) �"�& ���� @�#���������������	 �
�@���� �%$&�� & (Head section) bP���
�B��	Q�	
C
��	A�$� (Deflection) �"
�&�3� � (Slope) ���
#�����$���f �����&$�3��������C�3	 �J���	��J3$ 

��	����&Q	
C
��	A�$� (Deflection) �"
�&�3� � (Slope) ���#�����$���f ��������
A�	��	3 MDSolids 30 ����	����&Q�"
&B!�	�
�S!�����&�3%
�&�����	!��C� Free body 
diagram ��A�	��	3#���C��C�	� F1max ����	
��������#�3�ghi���	C��C�	� �%��� �
����	
��� 3-6 

 

 
 

����	
��� 3-6 Free body diagram ���%$&�� & (Head section) �" ���	C��C�	� 
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_"��		 � (Run) A�	��	3 �%��� �����	
��� 3-7 OP� 3-12  
 

 
 

����	
��� 3-7 Free body diagram ���%$&�� & (Head section) 
 

�������	
��� 3-7 	�C"
!��C��	�����	
���3�� ���@ 
P1  =  500 cos30

o + (F1max) sin10
o =  594.20 N 

M1 =  (F1max x 0.128) =  118.82 N.m 
 

 
 

����	
��� 3-8 �	�!k������#�����$���f (Shear Diagram) ������ 
 

 
 

����	
��� 3-9 A3!3�#S� � (Bending moment diagram) ��������#�����$���f 
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 ����_����A3!3�#S������	
��� 3-9 ��&$� A3!3�#S%E�%��!�T� 118.82 �B&# �!3#	 

����&Q���$��&�3!��� (Stress) ���%E#	  
I

MY
σ =      (3-1) 

 σ  ���   �$��&�3!��� (Stress) ���!�B��P@�  
  I   ���   A3!3�#S�&�3!k���C  

  M  ���   A3!3�#S� � (Bending moment) %E�%������	
���#$����   
 Y   ���   	
C
�$����� Neutral axisJ�C �������!	��B��	Q� 

 

 
 

����	
��� 3-10 ��Q%3� #B!�"o��"$������������	��������� 
 
!"���!�"o��"$�����3�����# �%��!�"��C3� #�	 % �&��� 1.5 �B@& %E� 1.5 �B@& ��� 0.047 �B@& 
A3!3�#S�&�3!k���C������  8

1096.3
−×=I       

����$���%3��	���(3-1) �
J�� 96.595,009,57=
10×96.3

019.0×82.118
=σ 8-

  N/m2   

�
J��                 σ  = 57.01 MN/m2 
�B��$�!_����&�3�"��� C (Safety factor: µ) = 3.5   
�
J��        σ s= 41.55 x 3.5  = 199.54 MN/m2 
����$� σ s (�$��&�3!���%E�%�� Stressmax) ���J��J�!�	�C�!��C�� ��$� Yield strength ���!�"o� 
!�s�#�	����Q%3� #B!�"o�%���	 �_E�	 �!�3��$�%	����"
&BU&�	 
��&$�!�"o� St 37 3��$�   Elastic modulus  210,000   MN/m2 
    Yield strength  240  MN/m2 
    Shear strength  140  MN/m2 
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���#�	����Q%3� #B!�"o�%���	 �_E�	 �!�3��$�%	����"
&BU&�	��&$� �$� Yield strength 3�
�$�3���&$��$� Stressmax ���!�B��P@� � �� @�%�3�	O!"������!�"o� St 37 ���3���������# � �&��� 1.5 �B@& 
%E� 1.5 �B@& ��� 0.047 �B@&J�� 
  ����$����������J��B��Q��$��&�3� � (Slope) �"
	
C
A�$� (Deflection) ���������
#�����$��� !�������$����3�����%���"�&#	&�%���E&$�C�3	 �J���	��J3$ bP��_"��	��%��A�	��	3 
�%��� �����	
��� 3-11 OP� 3-12 
 

 
 

����	
��� 3-11 �&�3� � (Slope diagram) ���#�����$���f ����� 
 

 
 

����	
��� 3-12 	
C
A�$� (Deflection diagram) ���#�����$���f����� 
 

_"��	��%����&$� 	
C
A�$�%E�%���CE$����"�C��� �%��� �����	
��� 3-12 A�C3�
	
C
��	A�$� 0.1884 3B""B!3#	 bP��O��&$�C�3	 �J��  
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2) ����	�
��
��
���� (Middle section)  

���!�#��	!�"����������%$&��"�� (Middle section) �CE$���$&� 0o OP� -25o � �� @�          
��	����&Q�� F2 ���3��$�3��%�� (F2max) !�������J�����&Q���������3�!#�	S#�����$���	
����&Q!�T� 2 �	Q���� #�����$���	!�"��������CE$��� 0o �"
 -25o #�����$�����	�����	
����%��� �
����	
��� 3-13 �B��	Q��	�����	
���#$�%$&��"�� (Middle section) J����$ 

- �	�������	
���#$��B@�%$&����%$&��"�� (Middle section) 1,300 �B&# � 
- �	� F2 ����	�� �������� �!�"���� 2 �	
���#$�%$&��"�� (Middle section) 
- RO1 �	��WB�B	BC�3�����%�������� O1 3��$� 636.78 �B&# � (_"����	���� �

!�����3�����	��	
������%$&�� &) 
- RO2 �	��WB�B	BC� Q ��� O2 

 

 
 

����	
��� 3-13 Free body diagram ���%$&��"�� (Middle section) 
 
 ��	����&Q���$� F2 ���3��$�3��%�� (F2max) J��� ���@ 
  2.1) ���	� F2 �	Q����%$&��"�� (Middle section) !�"�������3�3 0o �%��� �
����	
��� 3-14 
 

 
 

����	
��� 3-14 Free body diagram ���%$&��"�� (Middle section) Q #�����$� 0o 
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�� F2 �����	�B��	Q�A3!3�#S	����� O2 �
J��   
       (636.78 x 0.6) + (1,300 x 0.3)  =  (F2 cos49o x 0.5) + (F2 sin49o x 0.06) 
             F2  =  2,068.16 N 
�B��	Q�_"	&3�	�����&�B��!�T�UE�CS 
           636.78 +1,300 - F2 cos49o   =  RO2 
                           636.78 +1,300 - 2,068.16 cos49o  =  RO2 
                   RO2 =  579.95 
� �� @� F2 �	���	�������� �!�"���� 2 �	
���#$�%$&��"�� (Middle section) 3��$� 2,068.16 �B&# � 
  2.2) ���	� F2 �	Q����%$&��"�� (Middle section) !�"�������3�3 -25o �%��� �
����	
��� 3-15 
 

 
 

����	
��� 3-15 Free body diagram ���%$&��"�� (Middle section) Q #�����$� -25o 
 

�� F2 �����	�B��	Q�A3!3�#S	����� O2 �
J��   
      (636.78 cos25o x 0.6) + (1,300 cos25o x 0.3)  =  (F2 cos36o x 0.5) + (F2 sin36o x 0.06) 
                           F2 =  1,591.11 N 
�B��	Q�_"	&3�	�����&�B��!�T�UE�CS 
            636.78 +1,300 - F2 sin29o =  RO2 
                            636.78 +1,300 - 1,591.11 sin29o =  RO2 
                   RO2 =  1,165.39 N 
� �� @� F2 �	���	�������� �!�"���� 2 �	
���#$�%$&��"�� (Middle section) 3��$� 1,570.65 �B&# � 
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 !3����B��	Q�� @� 2 �	Q���&$� �$���� F2 ���3��$�3��%�� (F2max) 3��$� 2,068.16 �B&# � ��
�	Q����%$&��"�� (Middle section) !�"�������3�3 0o ���S�	
�������	�����	
���#$�A�	�%	��� 
%$&��"�� (Middle section) �%��� �����	
��� 3-14  

�" �������J������&Q���$���� F2 ���3��$�3��%�� (F2max) ���� @�#���������������	 �
�@���� ����%$&��"�� (Middle section) bP���
�B��	Q�	
C
��	A�$� (Deflection) �"
�&�3� � 
(Slope) ���#�����$���f �����&$�3��������C�3	 �J���	��J3$  

��	����&Q	
C
��	A�$� (Deflection) �"
�&�3� � (Slope) ���#�����$���f ����� ���
A�	��	3 MDSolids 30 ����	����&Q�"
&B!�	�
�S!�����&�3%
�&�����	!��C� Free body 
diagram ��A�	��	3#���C��C�	� F2max ����	
��������#�3�ghi���	C��C�	� �%��� �
����	
��� 3-16 
 

4.53

 
 

����	
��� 3-16 Free body diagram ���%$&��"�� (Middle section) �" �C��C�	� 
 
_"��		 � (Run) A�	��	3 �%��� �����	
��� 3-17 OP� 3-23 
 

 
 

����	
��� 3-17 Free body diagram ���%$&��"�� (Middle section) 
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�������	
��� 3-17 	�C"
!��C��	�����	
���� ���@ 
        P1  =  1,300 N                   

P2  =  636.78 N          
P3  =  F2max cos49

o =  1,356.84 N  
  M1 =  (F2max x 0.045) =  93.07 N.m 
 

 
 

����	
��� 3-18 �	�!k������#�����$���f (Shear Diagram) ������ 
 

 
 

����	
��� 3-19 A3!3�#S� � (Bending moment diagram) ��������#�����$���f 
 
����_����A3!3�#S������	
��� 3-19 ��&$� A3!3�#S%E�%��!�T� 173.64 N.m 
����������# ���� �%��� �����	
��� 3-20 
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����	
��� 3-20  ��Q%3� #B!�"o��"$������������	��������� 
 
!"���!�"o��"$�����3�����# �%��!�"��C3 15 �&��� 2 �B@& %E� 2 �B@& ��� 0.12 �B@& 
A3!3�#S�&�3!k���C������  7

10073.2
−×=I       

����$���%3��	��� (3-1) �
J�� 35.716,275,21
10073.2

0254.064.173
σ

7
=

×
×

=  N/m2     

�
J��                 σ = 21.28 MN/m2 
�B��$�!_����&�3�"��� C (Safety factor: µ) = 5   
(!�����3����%$&��"�� (Middle section) !�T�%$&����	 ��@���� �3�����%��3�A���%����
!%�C��C�P�
!"�������$�!_����&�3�"��� C Safety factor (µ) = 5 !�����u��� ��	Q��������
3��@���� ���"�
3���&$����������J&�) 
�
J��     σ s= 21.28 x 5 = 106.4 MN/m2 
����$� σ s (�$��&�3!���%E�%�� Stressmax) ���J��J�!�	�C�!��C�� ��$� Yield strength ���!�"o� 
!�s�#�	����Q%3� #B!�"o�%���	 �_E�	 �!�3��$�%	����"
&BU&�	 
��&$�!�"o� St 37 3��$�   Elastic modulus  210,000   MN/m2 
    Yield strength  240  MN/m2 
    Shear strength  140  MN/m2 

���#�	����Q%3� #B!�"o�%���	 �_E�	 �!�3��$�%	����"
&BU&�	��&$� �$� Yield strength 3�
�$�3���&$��$� Stressmax ���!�B��P@� � �� @� %�3�	O!"������!�"o� St 37 3���������# � �&��� 2 �B@&       
%E� 2 �B@& ��� 0.12 �B@&J�� 
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  ����$����������J��B��Q��$��&�3� � (Slope) �"
	
C
A�$� (Deflection) ���������
#�����$��� !�������$����3�����%���"�&#	&�%���E&$�C�3	 �J���	��J3$ bP��_"��	��%��A�	��	3 
�%��� �����	
��� 3-21 OP� 3-22 
 

 
 

����	
��� 3-21 �&�3� � (Slope diagram) ���#�����$���f ����� 
 

 
 

����	
��� 3-22 	
C
A�$� (Deflection diagram) ���#�����$���f ����� 
 

_"��	��%����&$� 	
C
A�$�%E�%���CE$���#�����$� 0.33 !3#	 � �����	
��� 3-22 A�C3�
	
C
��	A�$� 0.079 3B""B!3#	 bP��O��&$�C�3	 �J�� 
 

3) ����	�
��
��
���� (Lower section)  

���!�#��	!�"����������%$&�"$�� (Lower section) �CE$���$&� 60o OP� -35o � �� @���	
����&Q!������ F3 ���3��$�3��%�� (F3max) !�������J�����&Q���������3�!#�	S #�����$���	
����&Q!�T� 3 �	Q� ���#�����$���	!�"��������CE$��� 60o, 0o �"
 -35o #�3"��� � #�����$�����	����
�	
���J�� �%��� �����	
��� 3-23 �B��	Q��	�����	
���#$�%$&�"$�� (Lower section) J����$ 

- �	�������	
���#$�%$&�"$�� (Lower section) 900 �B&# � 
- �	� F3 ����	�������� �!�"���� 3 �	
���#$�%$&�"$�� (Lower section) 
- RO2 �	��WB�B	BC� Q ��� O2 
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����	
��� 3-23 Free body diagram ���%$&�"$�� (Lower section) 
 
 ��	����&Q���$� F3 ���3��$�3��%�� (F3max) �B��	Q���� 3 �	Q�� ���@ 
  3.1) ���	� F3 �	Q����%$&�"$�� (Lower section) !�"�������3�3 60o A�C
���S�	
�������	�����	
���#$�A�	�%	���%$&�"$�� (Lower section) �%��� �����	
��� 3-24 
 

 
 

����	
��� 3-24 Free body diagram ���%$&�"$�� (Lower section) Q #�����$� 60o 
 
�� F3 �����	�B��	Q�A3!3�#S	����� O2 �
J��   
       (900 sin30o x 0.4) + (F3 sin1o x 0.55) =  F3 cos1o x 0.18 
             F3  =  1,056.50 N 
�B��	Q�_"	&3�	�����&�B��!�T�UE�CS 
                900 ` F3 cos31o =  RO2 
             900 ` 1,056.50 cos31o  =  RO2 
              RO2  =  -5.59 N 
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� �� @� F3 �	���	����� �!�"���� 3 �	
���#$�%$&�"$�� (Lower section) 3��$�1,056.50      
�B&# � �"
�	��WB�B	BC� Q ��� O2 (RO2) 3��$� 5.59 �B&# � �BU���#	����3� ��� Free body diagram         
� �����	
��� 3-24 
  3.2) ���	� F3 �	Q����%$&�"$�� (Lower section) !�"�������3�3 0o A�C���S�	
���
����	�����	
���#$�A�	�%	���%$&�"$�� (Lower section) �%��� �����	
��� 3-25 
 

 
 

����	
��� 3-25 Free body diagram ���%$&�"$�� (Lower section) Q #�����$� 0o 
 

�� F3 �����	�B��	Q�A3!3�#S	����� O2 �
J��   
                             900 x 0.4 =  (F3 cos14o x 0.18) + (F3 sin14o x 0.55) 
                         F3  =  1,169.93 N 
�B��	Q�_"	&3�	�����&�B��!�T�UE�CS 
                 RO2  =  900 - F3 sin14

o        
              RO2 =  616.97 N 
� �� @� F3 �	���	�������� �!�"���� 3 �	
���#$�%$&�"$�� (Lower section) 3��$� 1,169.93 �B&# � 
  3.3) ���	� F3 �	Q����%$&�"$�� (Lower section) !�"�������3�3 -35o A�C
���S�	
�������	�����	
���#$�A�	�%	���%$&�"$�� (Lower section) �%��� �����	
��� 3-26 
 

 
 

����	
��� 3-26 Free body diagram ���%$&�"$�� (Lower section) Q #�����$� -35o 
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�� F3 �����	�B��	Q�A3!3�#S	����� O2 �
J��   
            (900 cos35o x 0.4)  =   (F3 cos13o x 0.18)+(F3 sin13o x 0.55) 
            F3 =   985.91 N 
  �B��	Q�_"	&3�	�����&�B��!�T�UE�CS 
               900 + F3 sin22o  =  RO2 
               900 + 985.91 sin22o   =  RO2 
                 RO2  =  1,269.33 N 
� �� @� F3 �	���	�������� �!�"���� 3 �	
���#$�%$&�"$�� (Lower section) 3��$� 876.36 �B&# � 
 
 !3����B��	Q�� @� 3 �	Q���&$� �$���� F3 ���3��$�3��%�� (F3max) 3��$� 1,169.93 �B&# � ��
�	Q����%$&�"$�� (Lower section) !�"�������3�3 0o ���S�	
�������	�����	
���#$�A�	�%	���
%$&�"$�� (Lower section) �%��� �����	
��� 3-25 

�" �������J������&Q���$���� F3 ���3��$�3��%�� (F3max) ���� @�#���������������	 �
�@���� ����%$&�"$�� (Lower section) bP���
�B��	Q�	
C
��	A�$� (Deflection) �"
�&�3� � 
(Slope) ���#�����$���f����� &$�3��������C�3	 �J���	��J3$ 

��	����&Q	
C
��	A�$�(Deflection) �"
�&�3� � (Slope) ���#�����$���f����� ���
A�	��	3 MDSolids30 ����	����&Q�"
&B!�	�
�S!�����&�3%
�&�����	!��C� Free body 
diagram ��A�	��	3#���C��C�	� F3max ����	
��������#�3�ghi���	C��C�	� �%��� �
����	
��� 3-27 

 

 
 

����	
��� 3-27 Free body diagram ���%$&�"$�� (Lower section) �" �C��C�	� 
 

_"��		 � (Run) A�	��	3 �%��� �����	
��� 3-28 OP� 3-33  
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����	
��� 3-28 Free body diagram ���%$&�"$�� (Lower section) 
 
�������	
��� 32 	�C"
!��C��	�����	
���3�� ���@ 
      P1  =  900 N        
      P2  =  F3max sin14

o  =  283.03 N    
     M1 =  F3max x 0.175  =  204.74 N.m 
 

 
 

 ����	
��� 3-29  �	�!k������#�����$���f (Shear Diagram) ������ 
 

 
 

 ����	
��� 3-30 A3!3�#S� � (Bending moment diagram) ��������#�����$���f 
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 ����_����A3!3�#S������	
��� 3-30 ��&$� A3!3�#S%E�%��!�T� 247.08 �B&# �!3#	  
����������# ���� �%��� �����	
��� 3-31 
 

 
 

����	
��� 3-31 ��Q%3� #B!�"o��"$������������	��������� 
 
!"���!�"o��"$�����3�����# �%��!�"��C3 #�3	E���� 15 �&��� 2 �B@& %E� 2 �B@& ��� 0.12 �B@& 
A3!3�#S�&�3!k���C������  7

10073.2
−×=I     

����$���%3��	��� (3-1) �
J��  40.153,274,30
10073.2

0254.008.247
σ

7
=

×
×

=   N/m2   

�
J��      σ  = 30.27 MN/m2 
�B��$�!_����&�3�"��� C (Safety factor: µ) = 5   
(!��������%$&����%$&�"$�� (Lower section) !�T�%$&����	 ��@���� �3�����	Q����!�"�������J�C �   
3�3 -35 O 3�A���%����
!%�C��C�P�!"�������$�!_����&�3�"��� C (Safety factor: µ) = 5 !�����u��� �
�	Q��������
3��@���� ���"�3���&$����������J&�) 
�
J��      σ s= 30.27 x 5 = 151.35 MN/m2  
����$� σ s (�$��&�3!���%E�%�� Stressmax) ���J��J�!�	�C�!��C�� ��$� Yield strength ���!�"o� 
!�s�#�	����Q%3� #B!�"o�%���	 �_E�	 �!�3��$�%	����"
&BU&�	 
��&$�!�"o� St 37 3��$�   Elastic modulus  210,000   MN/m2 
    Yield strength  240  MN/m2 
    Shear strength  140  MN/m2 
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���#�	����Q%3� #B!�"o�%���	 �_E�	 �!�3��$�%	����"
&BU&�	��&$� �$� Yield strength 3�
�$�3���&$��$� Stressmax ���!�B��P@� � �� @� %�3�	O!"������!�"o� St 37 ���3���������# � �&��� 2 �B@&   
%E� 2 �B@& ��� 0.12 �B@&J��  

 
 ����$����������J��B��Q��$��&�3� � (Slope) �"
	
C
A�$� (Deflection) ���������
#�����$���!�������$����3�����%���"�&#	&�%���E&$�C�3	 �J���	��J3$ _"��	��%��A�	��	3 
�%��� �����	
��� 3-32 OP� 3-33 
 

 
 

����	
��� 3-32 �&�3� � (Slope diagram) ���#�����$���f ����� 
 

 
 

����	
��� 3-33 	
C
A�$� (Deflection diagram) ���#�����$���f ����� 
 

_"��	��%����&$� 	
C
A�$�%E�%���CE$����"�C���� �����	
��� 3-33 A�C3�	
C
��	
A�$� 1.003 3B""B!3#	bP��O��&$�C�3	 �J�� 
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4) ����	�
��&

��
'(�)
� (Column 1) 
!%� 1 (Column 1) ��� !%����	 ��@���� �A�	�%	������%$&�� & (Head section) %$&��"�� 

(Middle section) %$&�"$�� (Lower section) 	&3OP��@���� �����������"�3��"
�@���� ����
A�	�%	���#�����$�����	�����	
����%��� �����	
��� 3-34 �	�����	
���#$�!%� 1 J����$ 

- �	��WB�B	BC�����	
���#$���� O4 (RO4)  
- �	���!�����3�����@���� ��� �	
3�Q 1,500 �B&# � 
- �	���!���������@���� �A�	�%	���%$&�� & (Head section) %$&��"�� 

(Middle section) �"
%$&�"$�� (Lower section) 	&3!�T� 800 �B&# �   
- �@���� �������� �!�"����� @��3� 700 �B&# � 

 _"	&3�	�������	
���#$�!%�� @� 2 !%� 3,000 �B&# � !3����B��	Q��	�����	
���#$�!%�!��C�

!%�!��C&�
J���	���3��$� N500,1
2

000,3
=  

 
 
 
 
 
 
 
 

 
����	
��� 3-34 Free body diagram ���!%� 1 (Column1) 

 
���	��WB�B	BC�����	
���#$���� O4 (RO4) �����	�B��	Q�_"	&3�	�����&�B��!�T�UE�CS�
J��  
                RO4  =  1,500 N 
�B��$�!_����&�3�"��� C (Safety factor: µ) = 6   
(!�����3����%$&���� !%� 1 (Column 1) !�T�%$&����	��	 ��@���� ����A�	�%	���� @�%$&���� Head 
section, Lower section, Middle section, �@���� �������"
	&3OP��@���� ����A�	�%	���������3�
A���%����
!%�C��C3���P�!"�������$�!_����&�3�"��� C (Safety factor: µ) = 6 !�����u��� ��	Q����
����
3��@���� ���"�3���&$����������J&�) 

RO4 

1,500 N 

0.40 m 

O4 
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�
J���	�����3$!�T� = 1,500 x 6 = 9,000 �B&# � 
  ������3E"����������# �!%���&C!�"o��"$�����3��&�3�&���!�T� 1.0 �B@& %E� 1.5 
�B@& ��� 0.047 �%��� �����	
��� 3-35 ���!�"o��"�� St ` 37 #�3#�	����Q%3� #B!�"o�%���	 �
_E�	 �!�3��$�%	����"
&BU&�	��&$�!�"o�3���Q%3� #B� ���@ 
!�"o� St 37 3��$�   Elastic modulus   210,000 MN/m2 
   Yield strength   240  MN/m2 
   Shear strength   140  MN/m2 
_"��		 � (Run) A�	��	3 �%��� �����	
��� 3-35 OP� 3-36  
 

 
 

����	
��� 3-35 ��Q%3� #B!�"o��"$������������	������!%� 
 

 
 

 ����	
��� 3-36 _"��	������  



 

 

54 

_"��	������������!�"o��"$�����3��&�3�&���!�T� 1.0 �B@& %E� 1.5 �B@& ��� 0.047 ���
!�"o��"��#�33�#	;��!C�	3 � St 37 %�3�	O	 ��	�%E�%�� (Critical load) 15,588.1 �B&# �        
bP��3���&$��	������3�����%�����������3��$� 9,000 �B&# � � �� @�%�3�	O���!%����������	 �
�@���� �J�� 
 

 5) ����	�
��&

��
.�
 Base section  
 ���!�#��	!�"��������������!����3#$�;�� (Link 1) �CE$���$&� 15 O OP� 75 O � �� @�

��	����&Q�� F4 ���3��$�3��%�� (F4max) !�������J�����&Q���������3�!#�	S#�����$���	
����&Q!�T� 2 �	Q���� #�����$���	!�"��������CE$��� 15 O �"
 75 O #�����$�����	�����	
���J�� �%��
� �����	
��� 3-37 �B��	Q��	�����	
���#$����!��C� 1 ��� J����$ 

- �	��WB�B	BC�����	
���#$���� O4 (RO4=1,500 N)  
- �	��WB�B	BC�����	
���#$���� A (RA), �	��WB�B	BC�����	
���#$���� B (RB) 
- �	P����P������	��WB�B	BC�� �!�����3�����	� F2 3��$� N08.034,1

2

16.068,2
=  

- �	� F4 






 =
2

4
4

F
F  ����	P����P������	�������� �!�"���� 4 �	
���#$�%$&�;��        

 

 
 

����	
��� 3-37 Free body diagram ���%$&�;�� (Base section) 
 

 ��	����&Q���$� F4 ���3��$�3��%�� (F4max) �B��	Q���� 2 �	Q�� ���@ 
 5.1) ���	� F4 �	Q��������!����3#$�;�� (Link 1) !�"�������3�3 15 O � �����������

%$&�;�� (Base section) !�"�������#���%���������	� F4 ����	
���#$�%$&�;�� (Base section) ���       
3�3 75O � ���&�B�� A�C���S�	
�������	�����	
���#$�A�	�%	��� �%��� �����	
��� 3-38 
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����	
��� 3-38 Free body diagram �������!����3#$�;�� (Link 1) Q #�����$� 15o 
�� F4 �����	�B��	Q�A3!3�#S	����� B �
J�� 
             (1,500 x 0.25) + (1,034.08 sin29 O x 0.25)  =  RA cos75

 O x 0.67 
               500.33  =  0.17 RA   
             RA  =  2,943.12 N 
�B��	Q�_"	&3�	�����&�B��!�T�UE�CS�
J�� 
            (1,034.08 sin29 O) + (1,500) - (RA cos75

 O)  =  (RB cos75
 O) + (F4 cos72

 O) 
  (1,034.08 sin29 O) + (1,500) - (2,943.12 cos75 O)  =  (RB cos75

 O) + (F4 cos72
 O) 

              0.31 F4 + 0.26 RB   =  1,239.59    (3-2) 
�B��	Q�_"	&3�	�����&	
���!�T�UE�CS�
J�� 

(1,034.08 cos29 O) + (RA sin75
 O)  =  (F4 sin72

 O) - (RB sin75
 O)   

                  (1,034.08cos29 O) + (2,943.12 sin75 O)  =  (F4 sin72
 O) - (RB sin75

 O)   
                0.95 F4 - 0.97 RB =  3,747.26    (3-3) 
���%3��	 (3-2) �"
 (3-3) �
J�� 
              F4  =  3,974.24 N  
               RB  =  29.14 N  
 �	� F4 �	���	�������� �!�"���� 4 �	
���#$�%$&�;�� (Base section) 3��$�!�T� 2 !�$����
�	��������&QJ�� (F4 ) ������ F4 3��$� 7,948.48 �B&# � �"
�	��WB�B	BC�����	
���#$���� A (RA) 3��$� 
2,943.12 �B&# � �	��WB�B	BC�����	
���#$���� B (RB) 3��$� 29.14 �B&# � 
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  5.2) ���	� F4 �	Q��������!����3#$�;�� (Link 1) !�"�������3�3 75O A�C
���S�	
�������	�����	
���#$�A�	�%	���%$&�;�� (Base section) �%��� �����	
��� 3-39 
 

 
 

����	
��� 3-39 Free body diagram �������!����3#$�;�� (Link 1) Q #�����$� 75o 
 

�� F4 �����	�B��	Q�A3!3�#S	����� B �
J�� 
             (1,500 x 0.25) + (1,034.08 sin29 O x 0.25)  =  RA cos15

 O x 0.67  
             RA  =  773.11 N 
�B��	Q�_"	&3�	�����&�B��!�T�UE�CS�
J�� 
            (1,034.08 sin29 O) + (1,500) - (RA cos15

 O)  =  (RB cos15
 O) + (F4 cos57

 O) 
      (1,034.08sin29 O) + (1,500) - (773.11 cos15 O)  =  (RB cos15

 O) + (F4 cos57
 O) 

              0.54 F4 + 0.97 RB  =  1,254.57   (3-4) 
�B��	Q�_"	&3�	�����&	
���!�T�UE�CS�
J�� 

(1,034.08 cos29 O) + (RA sin15
 O)  =  (F4 sin57

 O) - (RB sin15
 O)   

              (1,034.08 cos29 O) + (773.11 sin15 O)  =  (F4 sin57
 O) - (RB sin15

 O)   
               0.84 F4 - 0.26 RB  =  1,104.52    (3-5) 
���%3��	 (3-4) �"
 (3-5) �
J�� 
              F4  =  1,463.12 N  
               RB =  478.89 N   
 � �� @� F4 �	���	�������� �!�"���� 4 �	
���#$�%$&�;�� (Base section) 3��$�!�T� 2 !�$����
�	��������&QJ�� (F4 ) ������ F4 3��$� 1,463.12 �B&# � �"
�	��WB�B	BC�����	
���#$���� A (RA) 3��$� 
773.11�B&# � �	��WB�B	BC�����	
���#$���� B (RB) 3��$� 478.89 �B&# �  
 !3����B��	Q�� @� 2 �	Q���&$� �$���� F4 ���3��$�3��%�� (F4max) 3��$� 7,948.48 �B&# � �"
 F4 
���3��$�3��%�� (F4max) 3��$� 3,974.24 �B&# � ���	Q��������!����3#$�;�� (Link 1) !�"�������3�3 15

 O 
���S�	
�������	�����	
���#$�A�	�%	���%$&�;�� (Base section) �%��� �����	
��� 3-40 
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RA

0.42

0.67

O4

A B

72

29
RO4=1,500N

75 75RB

(m)

F2=1,034.08N

F4

 
 

����	
��� 3-40 Free body diagram ���%$&�;�� (Base section) �" �C��C�	� 
 

 ��	����&Q	
C
��	A�$� (Deflection) �"
�&�3� � (Slope) ���#�����$���f ����� ���
A�	��	3 MDSolids 30 _"��		 � (Run) A�	��	3 �%��� �����	
��� 3-41 OP� 3-46  
 

 
 

����	
��� 3-41 Free body diagram ��� Base section 
 
�������	
��� 3-41 	�C"
!��C��	�����	
���3�� ���@ 
 P1 =  (1,034.08 sin29

 O) + 1,500 = 2,001.33 N  
        P2 =  F4 cos72

 O = 3,974.24 cos72 O = 1,228.11 N 
 

 
 

����	
��� 3-42 �	�!k������#�����$���f (Shear Diagram) ������ 
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����	
��� 3-43 A3!3�#S� � (Bending moment diagram) ��������#�����$���f 
 
����_����A3!3�#S������	
��� 3-43 ��&$� A3!3�#S%E�%��!�T� 313.64 �B&# �!3#	 
����������# ���� �%��� �����	
��� 3-44 
 

 
 

����	
��� 3-44 ��Q%3� #B!�"o��"$������������	��������� 
 
!"���!�"o����3�����# �%��!�"��C3 ����	
��� 48 �&��� 1 �B@& %E� 3 �B@& ��� 0.12 �B@& 
A3!3�#S�&�3!k���C     I = 3.82 x10-7       

����$���%3��	��� (3-1) �
J��        02.267,789,30=
10×82.3

0375.0×64.313
= 7σ   N/m2     

�
J��              σ  = 30.79   MN/m2 
�B��$�!_����&�3�"��� C (Safety factor: µ) = 5  
�
J��             σ s= 30.79 x 5  =   153.95  MN/m2 
����$� σ s (�$��&�3!���%E�%�� Stressmax) ���J��J�!�	�C�!��C�� ��$� Yield strength ���!�"o� 
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!�s�#�	����Q%3� #B!�"o�%���	 �_E�	 �!�3��$�%	����"
&BU&�	 
��&$�!�"o� St 37 3��$�   Elastic modulus  210,000   MN/m2 
    Yield strength  240  MN/m2 
    Shear strength  140  MN/m2 

���#�	����Q%3� #B!�"o�%���	 �_E�	 �!�3��$�%	����"
&BU&�	��&$��$� Yield strength 3�
�$�3���&$��$� Stressmax ���!�B��P@� � �� @� %�3�	O!"������!�"o� St 37 ���3���������# � �&��� 1 �B@& 
%E� 3 �B@& ��� 0.12 �B@&J�� 
 ����$����������J��B��Q��$��&�3� � (Slope) �"
	
C
A�$� (Deflection) ���������
#�����$���!�������$����3�����%���"�&#	&�%���E&$�C�3	 �J���	��J3$ _"��	��%��A�	��	3 
�%��� �����	
��� 3-45 OP� 3-46    
 

 
 

����	
��� 3-45 �&�3� � (Slope diagram) ���#�����$���f ����� 
 

 
 

����	
��� 3-46 	
C
A�$� (Deflection diagram) ���#�����$���f ����� 
 

_"��	��%����&$� 	
C
A�$�%E�%���CE$���#�����$� 0.36 !3#	 �%��� �����	
��� 3-46 
A�C3�	
C
��	A�$� 0.6341 3B""B!3#	 bP��O��&$�C�3	 �J�� 
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3.1.2 ���((�1223���
�4��'(�)567�84�739�1��:((�122 3 :;5; (Solid Edge) 

�" ��������&Q���������A�	�%	�������B@�%$&����� @������	������A�	�%	���!#�C�
��C������� ���&CA�	��	3������ 3 3B#B (Solid Edge)  

����	��������&CA�	��	3������ 3 3B#B (Solid Edge) %�3�	O���"����	!�"�������
����#$"
%$&�!�����E" �hQ
��	!�"�������&$�3��B@�%$&�J�����A�	�%	������������!�"�������J�       
����&���B@�%$&����� �	���B@�%$&���J3$%�3�	O!�"�������J�� �"
A�	�%	���%$&���3��wx���o
%�3�	O����wx��J��!k��
%$&�J��� ��� 

!3���������!%	o����������3�	�C"
!��C��B@�%$&����f�B@�%$&�% ������#$"
�B@�%$&��$��
���3��	
���!���!�T�!#�C�#�3���J��������J&� _"��	������A�	�%	���!#�C���C������� �
A�	��	3������ 3 3B#B (Solid Edge) �%��� �����	
��� 3-47 

 

 
 

����	
��� 3-47 _"��	��������&CA�	��	3������ 3 3B#B 
 

3.1.3 
�?�9�@�(23���
�4�� 

 ������J���������"
���J�A�	�%	���!#�C���&CA�	��	3������ 3 3B#B��3��&�3
%3�E	QS�"�&�P�% ���	
���A�	�%	��� A�C���	E�����"
�������������bP��%�3�	O�%��
	�C"
!��C�J�����%$&�������%
�&�����	%	���  
 %���	 ���	�	
���A�	�%	���!#�C�� @� %���	 �����B@�%$&�����
3��&�3�"��!�"�������
���J��������J&� !��������������� ��"�Cf �	
��	��&C� � !�$� ���!�T�#����C�C�������!�"o���
%$&�;�� (Base section) !"o����C����	�%$�E� (Bush) !���������	�3��������#$�	��!	�C� _"���
��	�C�C�������!�"o��o%$�_"���A�	�%	���3��&�3��o��	�%�3�	O	 ��@���� �J��3���P@� _"��	
% ���	
���A�	�%	���!#�C���C������� � �%��� �����	
��� 3-48 
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����	
��� 3-48 _"��	�	
���A�	�%	���!#�C���C������� � 
 

3.2 '�A
5(
���((�1221�@
�?�BCA(:()5(�D 

 3.2.1 ���((�122'
�8'(�:()5(�D 

��	���������" ����3�!#�	S�B��	Q�����	��B�%E�%�� (Torquemax) ����	
���#$�3�!#�	S
!�������3�����&Q�����" ����3�!#�	S � �%3��	 (3-6)  

 
             P  =  Tmax xω       (3-6)  
      

���	Q����	
��#���3���	� �!�"����_$��%�	E���" � (Power screw) � @����!�T�#������	��B�
%E�%�� (Torquemax) !�������J���	�C�#�3#�����	 ����	���	��B�%E�%�� (Torquemax) %�3�	O��J��
���%3��	 (3-7) 	�C"
!��C�# &��	�%��� �����	
��� 3-49  

               Ffr
αfφ

αφfFd
T cmc

s

sm
+

tancos

tancos+

2
=   (3-7) 

 
A�C  

F = �	����%�	E���" � (Power screw) #���� �J�� 
dm = !%��_$��UE�CS�"�����%�	E���" � (Power screw) 25.5 3B""B!3#	 
fs = % 3�	
%B�{B|�&�3!%�C����	
�&$��_B&����!�"�C&�"
��u�!�"�C& 0.5  

φ = 3�3!�"�C& 14.5o 

α = 3�3 helix (3.57o) 
rmc = 	 U3���� bearing 15 3B""B!3#	  
fc = % 3�	
%B�{B|�&�3!%�C����	
�&$��_B&������� bearing�"
��u�!�"�C& (0.5) 
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α

 
 

����	
��� 3-49 " �hQ
%�	E���" ����!�"�C& Acme 
   

  1) ���((�122'
�8'(�:()5(�D'�2
��
��� (Head Section)  

 �B��	Q����$��	��B�(Torque) ���3�!#�	SA�C����$�# &��	�����%3��	 (3-7)        
�$�# &��	#$��f 3��$�� ���@ 

F1max = 287.28 N  (�	�������� �!�"�����	
���#$�%$&�� & (Head Section) %E�%��) 
F = F1max x 3   (3 ����$�!_����&�3�"��� C (Safety factor)) 
dm = 25.5 3B""B!3#	 
fs = 0.5 

φ = 14.5o 

α = 3.57o 
rmc = 15 3B""B!3#	 
fc 

ω  

= 
= 

0.5 
6.283 rad/s 

����$���%3��	 (3-7)  
�
J��  ( )328.8725.01015

57.3tan5.05.14cos

57.3tan5.14cos5.0

2

105.25328.872 3
3

××××+
°°
°°+×××

=T

               T  =  39.58 N-m 
�����" �3�!#�	S���%3��	 (3-6)            P =  Tω          
����$�                                        P  =  (39.58 N-m)(6.283 rad/s)   

                      P  = 248.68 & ##S        
��������� �	
%B�{B������3�!#�	S!�T� 80%   

����3�!#�	S3��$�           85.310
80.0

68.248
=  & ##S 

� �� @����" �����������	�B��	Q�!"�������3�!#�	S!�T�  310.85 & ##S 
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  2) ���((�122'
�8'(�:()5(�D'�2
��
���� (Middle Section) 

 ��	������	
��� �!�"�������3�!#�	S��%$&���@#���!�B�3!������� #	� 1 : 2 
!���������	�� �!�"������%$&���@3��$�3�� �B��	Q����$��	��B� (Torque) ���3�!#�	SA�C����$�# &
��	�����%3��	 (3-7) �$�# &��	#$��f 3��$�� ���@ 

F2 max = 2,068.16 N  (�	�������� �!�"�����	
���#$�%$&��"�� (Middle section)) 
F = F2 x 3  (3 ����$�!_����&�3�"��� C (Safety factor)) 
dm = 25.5 3B""B!3#	 
fs = 0.5 

φ = 14.5o 

α = 3.57o 
rmc = 15 3B""B!3#	 
fc 

ω  

= 
= 

0.5 
6.283 rad/s 

����$���%3��	 (3-7)      
�
J��  

 ( )3×16.068,2×5.0×10×15+
°57.3tan5.0°5.14cos

°57.3tan°5.14cos+5.0

2

10×5.25×3×16.068,2
=

3

3

T

              T   = 93.85 N-m 
!�����������!���������3�� #	��� 1:2 

� �� @� �	��B� (Torque) ���3�!#�	S!�T�           m-N93.46
2

85.93
=  

�����" �J�����%3��	 (3-6)                P  = Tω          
                           P  = (46.93 N-m)(6.283 rad/s)   

          P  = 294.86 & ##S    
��������� �	
%B�{B������3�!#�	S� ��	
%B�{B������!������	&3!�T� 80%   

����3�!#�	S!�T�              58.368
80.0

86.294
=  & ##S 

� �� @����" �����������	�B��	Q�!"�������3�!#�	S!�T�  368.59 & ##S 
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  3) ���((�122'
�8'(�:()5(�D'�2
��
���� (Lower Section) 

 ��	������	
��� �!�"�������3�!#�	S��%$&���@#���!�B�3!������� #	� 1 : 2 
!���������	�� �!�"������%$&���@3��$�3�� �B��	Q����$��	��B� (Torque) ���3�!#�	SA�C����$� # &
��	�����%3��	 (3-7) �$�# &��	#$��f 3��$�� ���@ 

F3 max =  1,169.93 N  (�	�������� �!�"�����	
���#$�%$&�"$�� (Lower section)) 
F = F3 x 3  (3 ����$�!_����&�3�"��� C (Safety factor)) 
dm = 25.5 3B""B!3#	 
fs = 0.5 

φ = 14.5o 

α = 3.57o 
rmc = 15 3B""B!3#	 
fc 

ω  

= 
= 

0.5 
6.283 rad/s    

����$���%3��	 (3-7)  
�
J��  

 ( )3× 1,169.93×5.0×10×15+
°57.3tan5.0°5.14cos

°57.3tan°5.14cos+5.0

2

10×5.25×3× 1,169.93
=

3

3

T  

           T  =  53.09 N-m 
!�����������!���������3�� #	��� 1:2 

� �� @� �	��B�(Torque) ���3�!#�	S!�T�          m-N55.26
2

09.53
=  

�����" �J�����%3��	 (3-6)            P  = Tω        
                           P  =  (26.55 N-m)(6.283 rad/s)   
                 P  = 165.62 Watt    
��������� �	
%B�{B������3�!#�	S!�T� 80%   
����3�!#�	S!�T�                 02.207

80.0

62.165
=  & ##S 

� �� @����" �����������	�B��	Q�!"�������3�!#�	S!�T�  207.02 & ##S 
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  4) ���((�122'
�8'(�:()5(�D'�2
��
.�
 (Base section) 

 ��	������	
��� �!�"�������3�!#�	S��%$&���@#���!�B�3���!����# &���� 
(Worm gear reducers) ���3�� #	��� 1 : 10 !���������	�� �!�"������%$&���@3��$�3�����%�� �B��	Q�
���$��	��B� (Torque) ���3�!#�	SA�C����$�# &��	�����%3��	 (3-7) �$�# &��	#$��f 3��$�� ���@ 

F4 max = 5,154.25 N  (�	�������� �!�"�����	
���#$�%$&�;�� (Base section)) 
F = F4 max x 4  (4 ����$�!_����&�3�"��� C (Safety factor)) 
dm = 25.5 3B""B!3#	 
fs = 0.5 

φ = 14.5o 

α = 3.57o 
rmc = 15 3B""B!3#	 
fc 

ω  

= 
= 

0.5 
6.283 rad/s   

����$���%3��	 (3-7) �
J��  

 ( )1×25.154,5×5.0×10×15+
°57.3tan5.0°5.14cos

°57.3tan°5.14cos+5.0

2

10×5.25×4×25.154,5
=

3

3

T

              T  = 311.89 N-m 
!��������������!����# &���� (Worm gear reducers) ���3�� #	��� 1 : 10 
� �� @� �	��B�(Torque) ���3�!#�	S!�T�         m-N19.31

10

89.311
=  

�����" �J�����%3��	 (3-6)             P  = Tω          
                                       P =  (31.19 N-m)(6.283 rad/s)   
                           P  = 195.97 & ##S    
��������� �	
%B�{B������3�!#�	S!�T� 80%   
����3�!#�	S!�T�                 96.244

80.0

97.195
=  & ##S 

� �� @����" �����������	�B��	Q�!"�������3�!#�	S!�T�  244.96 & ##S  
 
 
 
 
 
 



 

 

66 

 3.2.2 )�C(�BCA(:()5(�D1�@E����9�@�(23���
�4�� 

 �" ������	����&Q3�!#�	S�P�% ��b�@�3�!#�	S�#$��&$��������3�!#�	S���������J3$3�
��C#�3����#"�� � �� @��P�!"���b�@�3�!#�	S���3�������"�!��C�� ��$��������&Q3�����%��A�C
3�!#�	S���!"���������#$"
%$&� �%��� �����	
��� 3-50 OP� 3-53 
 

 
 

����	
��� 3-50 3�!#�	S����������	� �%$&�� & (Head section) 
 

 
 

����	
��� 3-51 3�!#�	S����������	� �%$&��"�� (Middle section) 
 

 
 

����	
��� 3-52 3�!#�	S����������	� �%$&�"$�� (Lower section) 
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����	
��� 3-53 3�!#�	S����������	� �%$&�;�� (Base section) 
 

 ��	�	
���	
��� �!�"����� �# &!#�C���C������� �#�����U C�&�3�����x!�T��C$��
3�� !������������	�	
���A�	�%	������#B�# @�	
���"��!�"����������J��������J&��	��
#B�# @����3�3J3$J��k���o�
%$�_"���!�B��	�!%�C�������3��$�3��������J3$%�3�	O� �!�"����	
��
�"
%$�_"���3�!#�	S!�B��&�3!%�C��CJ�� _"��	#B�# @��%��� �����	
��� 3-54 
 

 
 

����	
��� 3-54 _"��	#B�# @�	
��� �!�"���� 
 

 _"��	��%��	
��� �!�"�����" �����	
���A�	�%	���� @� 4 ���!����#	&�%���"

���J���&$� ��	!�"����������%$&�� & (Head section) " �hQ
��	!�"��������CE$��!�Q�S	��!	�C���
�#$�
���wx���������	Q����	 �A�"�!�B� (Critical load) �	
3�Q 3 !�$��
������3�!#�	S!�B�!%�C�
	��&��P@�!"o����C!��������������3�!#�	S!�B���	!C�@��UE�CS�#$J3$%$�_"#$���		 ��	�, ��%$&�
���%$&��"���"
%$&�"$�� (Middle & lower section) ��&$� " �hQ
��	!�"��������CE$��!�Q�S
	��!	�C���3��, %$&�;�� (Base section) ��&$� " �hQ
��	!�"��������CE$��!�Q�S	��!	�C����#$���
#B�# @����� �!�"����� �A�	�%	���!#�C�J3$J��k���P�%$�_"���A�	�%	���!#�C�AC�!"o����C 
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3.3 '�A
5(
���((�1221�@
�4���F�����2�G:HIBB6?�(J;� (Fuzzy Logic Controller) 

 ��	�&���3#�����$���� DC Motor %�3�	O!"��������	�&���3J���"�C&B{� !�$� PID 
Control, PI Control, Neuron Network �"� �"
 Fuzzy Logic Controller �o!�T�&B{���P�����%�3�	O���
�&���3	
��J���"
3������ � ���@  
 ���������wbb��"��B� (Fuzzy Logic Controller)  

 - %�3�	O���� �	
�����b �b��� �"
J3$!�T�!�B�!%��J�� 
 - J3$���!�T�#������������"������QB#U�%#	S���C�$�C�� 
 - %�3�	O���&�3!�3�
%3����	�&���3	
��J�� 
 - %�3�	O# �%B���#$�%O����	QS��fA�C��U C!��C��QB#U�%#	S�$�Cf !�T�#�� 

�ghi���	�&���3����wbb��"��B� (Fuzzy Logic Controller) �	
�����&C 3 � @�#��                   
�%��� �����	
��� 3-55 

 

FUZZIFICATION FUZZY CONTROL DEFUZZIFICATION

INPUT FUNCTION
���	
� ���	!�o����%3��B�

FUZZY RULE BASE
�W��@�;��� bb��  

 

����	
��� 3-55 �_�_ ��%����	����������wbb��"��B� (Fuzzy Logic Controller) 
 

 ��	�&���3#�����$����!#�C���C������� �A�C���	
���&���3����wbb��"��B� (Fuzzy 
Logic Controller) 3�# &��	 Input ����$��&�3�"��!�"�����"
� #	���	!�"��C���"��&�3
�"��!�"����3�3 �"
# &��	 Output ����&�3!	o&���3�!#�	S " �hQ
��	�&���3#�����$�������   
�wbb��"��B� (Fuzzy Logic Controller) 3��" ���	������ � ���@  

- ����$��&�3�#�#$��	
�&$��3�3���#�����	� �#�����$�!�B3���!#�C�3��$�3�� 	
���&���3
�
�������&�3!	o&���3�!#�	S3��$�%E��P@� 

- !3���!&"�_$��J��$��&�3�#�#$��	
�&$��3�3���#�����	� �#�����$�!�B3���!#�C�3��$�"�"� 
	
���&���3�
�������&�3!	o&"�"���&C 

- ���	
� ���$�	
�&$��3�3���#�����	� �#�����$�!�B3���!#�C�3��$���"�!��C�� � �&�3!	o&�

"�"�3�����C��!3���3�3� @�%��3��$�!�$�� � 
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���((�122HIBB6?�(J;� (Fuzzy Logic Controller) �	
�����&C 6 � @�#��� ���@ 
 3.3.1 '�A
N6? 1  ���N	�HIBB;HO)�P�?
'(�(;
QG5  

��	����wbbB�s!�� ������B���# !�T���	���$��B���#���	
�� ���$&��wbb������B���# �"

�����	%	���	
� ���	!�T�%3��B����!�T�J�J�� A�C�B���#���	
��3� 2 # & ��� 

1)    �$��&�3_B��"�� (Error ,E)  
��J������&�3�#�#$��	
�&$���$�3�3���!�T��CE$ (Ang) � ��$�3�3���#�����	 (Angset) 
 

Error (E) = Ang ` Angset 
 

2)   �$���	��"��$��&�3_B��"�� (Error Change ,Ech) ��J������&�3�#�#$��	
�&$��   
       �$��&�3_B��"��"$�%�� (E Lasted) � ��&�3_B��"���$������� @� (E Previous)  
 

Error Change (Ech) =Lasted Error (EL) - Previous Error (EP) 
 

# &��	����B���#� @� 2 # &#������3�_$��� @�#�������	�wbbB�s!�� ����	E�����wbb�����
�B���# A�C��	!��C��$�# &��	����B���# �%��� �#�	�� 3-1 

 

#�	�� 3-1 ��	!��C��$�# &��	����B���# (Quantized) 

 
Error of Angle (E ,Volt) Error Chang of Angle (Ech ,Volt) Quantized 

                E ≥ 2.8 Ech ≥ 2.8 +5 
2.5 ≤E < 2.8 2.5 ≤Ech < 2.8 +4 
2.2 ≤E < 2.5 2.2 ≤Ech < 2.5 +3 
1.9 ≤E < 2.2 1.9 ≤Ech < 2.2 +2 
1.6 ≤E < 1.9 1.6 ≤Ech < 1.9 +1 
1.3 ≤E < 1.6 1.3 ≤Ech < 1.6 0 
1.0 ≤E < 1.3 1.0 ≤Ech < 1.3 -1 
0.7 ≤E < 1.0 0.7 ≤Ech < 1.0 -2 
0.4 ≤E < 0.7 0.4 ≤Ech < 0.7 -3 
0.1 ≤E < 0.4 0.1 ≤Ech < 0.4 -4 
E ≤ 0.1 Ech ≤ 0.1 -5 
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3.3.2 '�A
N6? 2 ����	��
85��19�)(�5DQG5HIBB6? 

��	������# &��	!��#S��#�wbb��!��������
���J����$���	!�"��C���"��B&#�@Jb!�B" (Duty 
Cycle Change, Dch) ��������&��	!����!�"��C��$��	�� �������J���&�3!	o&3�!#�	S�	
�%#	�3��$�
%E��P@��	��#���"��"�&�#$�	Q� �"
3���	�������$����UE�CSO$&� (Assigned Value) ���!��#S��#�wbb��
!�������%�3�	O�����	���wbbB�s!�� ��J�� �%��� �#�	�� 3-2 

 
    #�	�� 3-2 ��	������# &��	!��#S��#�wbb�� 
 

Output Status Assigned Value 
LN -0.2 
SN -0.1 
ZE 0 
SP 0.1 
LP 0.2 

 
3.3.3 '�A
N6? 3 ����	��
8'(2)'5)P;�Z�[� (Fuzzy Linguistic) 1�@����	��
8������:

)9\

:�P;� (Grade of Membership Function)  
��	���������!�#!�B���h� (Fuzzy Linguistic) �"
��	�������$��&�3!�T�%3��B� 

(Grade of Membership Function) ��� Fuzzy Subset #$��f ���	
� ���	�&��J�bS����#�#$��� � 
��	���������!�#!�B���h� bP��!�T���h���������	
����	�&���3����wbb��"��B� �������@��$�
	
� �����wbb��������� �# &��	�B���#�"
!��#S��#J�� 5 ��h� � ���@ 

1) Large Positive (LP): �&�3�� 
2) Small Positive (SP): �&����C 
3) Zero (ZE): UE�CS 
4) Small Negative (SN): "����C 
5) Large Negative (LN): "�3�� 
��	������	E�	$���	������w��S� ���	!�T�%3��B�����B���#� @� 2 # &�"
���!��#S��#

�wbb��� @�������	E�%�3!�"��C3!��������������J���$�CJ3$b �b��� %�3�	O����&Q�$��&�3!�T�
%3��B����#$"
���J���3$�C���"
%
�&� �"
%�3�	O�	 ��&�3�&������;��!���������	�&���3
J��_"�����%��J�� 
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��	������	E�	$���	������w��S� ���	!�T�%3��B�����B���#� @� 2 # &�"
���!��#S��#�wbb���%��
� �����	
��� 3-55 �"
����	
��� 3-56 #�3"��� � 
 

 

 
(a) 

 

(b) 
����	
��� 3-55 �w��S� ���	!�T�%3��B���� (a) �B���#��� 1: Error of Angle (E) 

(b) �w��S� ���	!�T�%3��B�����B���#��� 2: Error Change of Angle (Ech)  
 

 

 
 

����	
��� 3-56 �w��S� ���	!�T�%3��B����!��#S��#�wbb�� 
 

3.3.4 '�A
N6? 4 ���
�4��)�C?(
_'��C(�F�����2�G:  
 ��	%	���!�����J��	���i��	�&���3%�3�	O����$�����B���#�	
3&"_"���J�J��     

!3������� @�#����� 1 �"
 2 �"�&�
!�T���	%	���!�����J�����
���3��������	�&���3����wbb��"��B� 
!����%�3�	O�&���3#�����$����!#�C�J��#�3#�����	 � @�#����@3��&�3%��� x3��!�	�
!�T���	
���"���g#B�		3���	
�����!�T�J�J�� �	��!�T���	���������# &�&���3�wbb��"��B��WB� #B��	
�&���3!3���3���	!�"��C���"�#�����$����!#�C�A�C���$�!��#S��#�wbb��!�������J����$���	
!�"��C���"��B&#�@Jb!�B"!�T��$�!�$�J	�P@��CE$� ��$��B���#� @� 2 # &���!�"��C���"�J�#�3#�	�� 3-3 
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       #�	�� 3-3 #�	����	%	���!�����J��	���i��	�&���3 
 

             Ech 

     E 
LN SN ZE SP LP 

LN LN LN LN SN SN 

SN LN SN SN SN ZE 

ZE SN SN ZE ZE SP 

SP ZE ZE SP SP LP 

LP SP SP LP LP LP 

 
�	��%�3�	O!��C�����CE$��	E�  IF�THEN J��� ���@ 

1) IF E = LN AND Ech = LN THEN  FUZZY OUTPUT = LN 
2) IF E = LN AND Ech = SN THEN  FUZZY OUTPUT = LN 
3) IF E = LN AND Ech = ZE THEN  FUZZY OUTPUT = LN 
4) IF E = LN AND Ech = SP THEN  FUZZY OUTPUT = SN 
5) IF E = LN AND Ech = LP THEN  FUZZY OUTPUT = SN 
6) IF E = SN AND Ech = LN THEN  FUZZY OUTPUT = LN 
7) IF E = SN AND Ech = SN THEN  FUZZY OUTPUT = SN 
8) IF E = SN AND Ech = ZE THEN  FUZZY OUTPUT = SN 
9) IF E = SN AND Ech = SP THEN  FUZZY OUTPUT = SN 
10) IF E = SN AND Ech = LPTHEN  FUZZY OUTPUT = ZE 
11) IF E = ZE AND Ech = LN THEN  FUZZY OUTPUT = SN 
12) IF E = ZE AND Ech = SN THEN  FUZZY OUTPUT = SN 
13) IF E = ZE AND Ech = ZE THEN  FUZZY OUTPUT = ZE 
14) IF E = ZE AND Ech = SP THEN  FUZZY OUTPUT = ZE 
15) IF E = ZE AND Ech = LP THEN  FUZZY OUTPUT = SP 
16) IF E = SP AND Ech = LN THEN  FUZZY OUTPUT = ZE 
17) IF E = SP AND Ech = SN THEN  FUZZY OUTPUT = ZE 
18) IF E = SP AND Ech = ZE THEN  FUZZY OUTPUT = SP 
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19) IF E = SP AND Ech = SP THEN  FUZZY OUTPUT = SP 
20) IF E = SP AND Ech = LP THEN  FUZZY OUTPUT = LP 
21) IF E = LP AND Ech = LN THEN  FUZZY OUTPUT = SP 
22) IF E = LP AND Ech = SN THEN  FUZZY OUTPUT = SP 
23) IF E = LP AND Ech = ZE THEN  FUZZY OUTPUT = LP 
24) IF E = LP AND Ech = SP THEN  FUZZY OUTPUT = LP 
25) IF E = LP AND Ech = LP THEN  FUZZY OUTPUT = LP 
 
�������@���# &���!�B���	 �AND�A�C����$�#���%�� (minimum) ���# &��	!�����J� (condition) 

����	����&Q_"" �{S	&3����wbb�� bP����	!"����$�#���%���
�������&�3��o���	$�����i���J��!"���
�CE$� @��P@�� ��$�# &��	%$&�!�����J����3��$��&�3!�T�%3��B����C���%��  

3.3.5 '�A
N6? 5 ���86HIBB;HO)�P�
'(�)(�5DQG5  
��	���wbbB�s!�� ����!��#S��#�"
��	������&B{���		&3_"����wbb��!�������J���$�!��#S��#

���!�T��$��	B���	E��	BbS�!b# (Crisp set) ���!�����J���� @�#����� 3 !3����B��	Q��&�3!�T�J�J��
����$�!��#S��# �
!�o�&$����#$"
�B���#�
J���$�!��#S��#�wbb�����3��"�C�$� �P�#������$�����3$�
#	�!��C��$�!��C&!�������J���$����!��#S��#�������	B����# &�&���3�wbb��"��B� bP���
���&B{���	���$�
UE�CS�"��!�������$�!b��	�C�S A�C��J�����%3��	 (3-8) 

 

    ( ) ( )∑∑
==

×=
N

n

n

N

n

nn YY µµ /      (3-8) 

 
!3���       Y = Crisp Output 
  µ = Membership Function 
  n  = Number of Membership  
 
 _"��	����&Q�$���� Output ���# &�&���3�wbb��"��B���&C&B{���	���$�UE�CS�"���%��
� �#�	�� 3-4  
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#�	�� 3-4 _"��	����&Q Output ���	
�� 

 
    Ech 

E 
-5 -4 -3 -2 -1 0 1 2 3 4 5 

-5 -0.2 -0.2 -0.2 -0.2 -0.2 -0.2 -0.1 -0.1 -0.1 -0.1 -0.1 

-4 -0.2 -0.2 -0.2 -0.2 -0.2 -0.2 -0.1 -0.1 -0.1 -0.1 -0.1 

-3 -0.2 -0.2 -0.2 -0.15 -0.15 -0.15 -0.1 -0.1 -0.05 -0.05 -0.05 

-2 -0.2 -0.2 -0.2 -0.1 -0.1 -0.1 -0.1 -0.1 0 0 0 

-1 -0.15 -0.15 -0.15 -0.1 -0.1 -0.05 -0.05 -0.05 0.05 0.05 0.05 

0 -0.1 -0.1 -0.1 -0.1 -0.1 0 0 0 0.1 0.1 0.1 

1 -0.05 -0.05 -0.05 -0.05 -0.05 0.05 0.05 0.05 0.15 0.15 0.15 

2 0 0 0 0 0 0.1 0.1 0.1 0.2 0.2 0.2 

3 0.05 0.05 0.05 0.05 0.05 0.15 0.15 0.15 0.2 0.2 0.2 

4 0.1 0.1 0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.2 

5 0.1 0.1 0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.2 

 
3.3.6 '�A
N6? 6 ���)9�6?7
���)(�5DQG5N6?��_84 
�" �������J��������wbbB�s!�� �!%	o��"�&�
J��_"" �{S����	����&Q��	E�!��#S��#bP���$�

!��#S��#��@C �J3$%�3�	O���J��������	�&���3�&�3!	o&3�!#�	S�	
�%#	�J��A�C#	��P�#������3�
_$����&���	����
�����	!�"��C�����$����!��#S��#%�3�	O�&���3�&�3!	o&3�!#�	S�	
�%#	�J�� 
&B{���	�o������!��#S��#J�!�	�C�!��C�� �#�	��!��#S��# !�T��	
�&���	�" �� �� ���	���$�
�B���#����wbb��!�������$���	!�"��C���"�����B&#�@Jb!�B" (Duty cycle) ���J��&���3�&�3!	o&
3�!#�	S�	
�%#	� _"��	!�"��C��$�!��#S��#�����J���%��� �#�	�� 3-5 
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          #�	�� 3-5 _"��	!�"��C��$�!��#S��#�����J�� 
 

)(�5DQG5 ������)9�6?7
19��'(�8;�56A_B)�;� (%) 
[0.16,0.20] -50 
[0.11,0.15] -40 
[0.06,0.10] -30 
[0.01,0.05] -20 

0 0 
[-0.05,-0.01] 20 
[-0.10,-0.06] 30 
[-0.15,-0.11] 40 
[-0.20,0.16] 50  

 

���((�122HIBB6?�(J;� (Fuzzy Logic Controller) 84�739�1��: MATLAB  

 ����	�������wbb��"��B� (Fuzzy Logic Controller) %�3�	O����&QJ�����	E�����"

%E#	� ����J���"$�&����#���#$&B{����$�C�"
%
�&��&$����&B{���	��	�������wbb��"��B� (Fuzzy 
Logic Controller) ��&CA�	��	3 MATLAB A�C3�� @�#��� ���@ 

1) !�s�A�	��	3 MATLAB �"�&�B3�S �Fuzzy� ���$�� Command !����!�s�����#$�� FIS 
Editor �%��� �����	
��� 3-58 

 

 
 

����	
��� 3-58 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
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2) ����#$�� FIS Editor ���%���	 �# @��$�!	B�3#�����	
���%��� �����	
��� 3-59 
 

 
 

����	
��� 3-59 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
 

3) !"��� Edit - Add variable - Input !����!�B�3 Input �%��� �����	
��� 3-60 
 

 
 

����	
��� 3-60 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
 

4) �%��	E���� Fuzzy Logic bP��3�� 2 Input ��� E (Error) �"
 E(ch) (Error change) �%��

� �����	
��� 3-61 
 

 
 

����	
��� 3-61 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
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5) # @��$�	
� ���� Fuzzy Logic �"
%	����	���%���&�3% 3� �{S�	��	
�&$����	
!�"��C���"���� Input 1 (E) � �	
� ��&�3!�T�%3��B� �%��� �����	
��� 3-62 

 

 
 

����	
��� 3-62 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
 

6) ��	!�"��C���"� Input2 (Ech) � �	
� ��&�3!�T�%3��B��%��� �����	
��� 3-63 
 

 
 

����	
��� 3-63 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
 

7) �	���%���&�3% 3� �{S	
�&$����	!�"��C���"� Output � �	
� ��&�3!�T�%3��B� 
�%��� �����	
��� 3-64 

 

 
 

����	
��� 3-64 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
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8) �� Edit - Rule !�����������i�������� Fuzzy Logic � @��3� (25 �i) �%��� �
����	
��� 3-65 

 

 
 

����	
��� 3-65 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
 

9) �� View Rule !������"�� Simulate �$� Output !�$� 
�	Q� E = -5, E(ch) = -5 �
J�� Output = -0.2 �%��� �����	
��� 3-66 

 

 
 

����	
��� 3-66 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
  

�	Q� E = 4, E(ch) = -1 �
J�� Output = 0.1 �%��� �����	
��� 3-67 
 

 
 

����	
��� 3-67 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
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�	Q� E = 4, E(ch) = -1 �
J�� Output = 0.2 �%��� �����	
��� 3-68 
 

 
 

����	
��� 3-68 ��	�������wbb��"��B���&CA�	��	3 MATLAB 
 

10)  #�	��%	��_"��	���"��	
�� (Simulation) �%��� �#�	�� 3-6 
 

  #�	�� 3-6 %	��_"��	���"��	
�� (Simulation) ��&CA�	��	3 MATLAB 
 

  Ech 

E 
-5 -4 -3 -2 -1 0 1 2 3 4 5 

-5 -0.2 -0.2 -0.2 -0.2 -0.2 -0.2 -0.1 -0.1 -0.1 -0.1 -0.1 

-4 -0.2 -0.2 -0.2 -0.2 -0.2 -0.2 -0.1 -0.1 -0.1 -0.1 -0.1 

-3 -0.2 -0.2 -0.2 -0.15 -0.15 -0.15 -0.1 -0.1 -0.05 -0.05 -0.05 

-2 -0.2 -0.2 -0.2 -0.1 -0.1 -0.1 -0.1 -0.1 0 0 0 

-1 -0.15 -0.15 -0.15 -0.1 -0.1 -0.05 -0.05 -0.05 0.05 0.05 0.05 

0 -0.1 -0.1 -0.1 -0.1 -0.1 0 0 0 0.1 0.1 0.1 

1 -0.05 -0.05 -0.05 -0.05 -0.05 0.05 0.05 0.05 0.15 0.15 0.15 

2 0 0 0 0 0 0.1 0.1 0.1 0.2 0.2 0.2 

3 0.05 0.05 0.05 0.05 0.05 0.15 0.15 0.15 0.2 0.2 0.2 

4 0.1 0.1 0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.2 

5 0.1 0.1 0.1 0.1 0.1 0.2 0.2 0.2 0.2 0.2 0.2 
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3.4 '�A
5(
���((�1221�@
�4���@22��2�G:)567���7Z�Q2	�2�8 

 	
���&���3!#�C���C������� � �	
�����&C % xx�Q (Input) ����$����	 �3����_E���� 
(User) A�C_$����3�B&!#�	S!����!����3#$� (Interface) � ���	S�J3A�	���A�	!"�	S (Micro 
controller board) �����������	
3&"_"!�����&���3#�����$����!#�C� ��������@%�3�	O�&���3
!#�C�J�����&B{� �����	�&���3_$����CS��� (Keypad) �"
�%��_"_$���� LCD A�CJ3$#����&���3
_$����3�B&!#�	S !3��������	�	
3&"_"!%	o��o�
%$�% xx�QJ�C �	
��� �!�"���� (Drive system) 
!����� �3�!#�	S!�������#�����$����!#�C�!�"�������J�C �#�����$����#�����	�"
�
3�# &#	&�	E� 
(Sensor) #	&�� ��$�3�3%$��" �3�!�����	
3&"_"��	��#$�J����&$�#�����$����3�3!#�C�
��C������� �!�$�� �3�3���#�����		�C"
!��C����%$&��	
��� �%��� �����	
��� 3-69 
 

 
 

 ����	
��� 3-69 Block diagram 	
���&���3 Electric Postural Drainage Table 
 

3.4.1 �����2��� (Input)   
��		 ��$� (Input) !�T�%$&����	 ��$����_E����A�C#	� ��&C&B{�% ����	_$����3�B&!#�	S��&C

A�	��	3 LabVIEW �%��� �����	
��� 3-70 !�#�_"���!"������A�	��	3 LabVIEW !��������
!�T�A�	��	3���%�3�	O����&�3!�����!�����
���J�������J��%
�&��"
	&�!	o& %�3�	O!��C�
����%��_"�	��%$&����#B�#$�� �_E����J��%&C��3 �"
���%��� x%�3�	O��� LabVIEW !��C�
A�	��	3#B�#$� I/O _$�������	S#����	3 (Serial port) ��3�B&!#�	S������3��&�3%
�&�3���P@� 
  

 
 

����	
��� 3-70 A�	��	3 LabVIEW 
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 ��	!��C�A�	��	3��&CA�	��	3 LabVIEW 3�� @�#����	������#�3 Flowchart �%��� �
����	
��� 3-71 �#$���%��� x%���	 ���	!��C�A�	��	3� @�#�����������	!����3#$� (Interface) 
	
�&$����3�B&!#�	S� ���	S�J3A�	���A�	!"�	S%�3�	O%���%�	� �J�� (Synchronous) !�	�

���J3$%�3�	O%���%�	� �J�� (Asynchronous) �
�������w��%$��w��	 �������J3$#	�� ���������	
%���%�	_B��"�� 
 
Flowchart ���)'67
39�1��:84�7 LabVIEW 
	����2��2�G:)567���7Z�Q2	�2�8 

 

 
 

 
����	
��� 3-71 Flowchart ��	!��C�A�	��	3 LabVIEW ����	�&���3!#�C���C������� � 

 



 

 

82 

 3.4.2 2(�D8_:3���(
3N�)�(�D (ARM-7) 
 1) �G�
:2�5; ET-ARM7 STAMP LPC2119 

ET-ARM7 STAMP LPC2119 !�T���	S�J3A�	���A�	!"�	S��#	
�E" ARM7TDMI-S 
Core !"������J3A�	���A�	!"�	S 16/32�B# ���� 64 �� �������" ����#����"
!"������ MCU 
!��	S LPC2119 ��� Philips A�C��	������A�	�%	��������	S�!�����	� �&����	S����3�����
!"o�!��������$�C#$���	���J��	
C��#S������ A�CJ����� MCU 3�� �&��		$&3� �����	QS  ��@�;�����
���!�T��"
� ������3������������C��� bP����	� �!	�C���% xx�Q�
�����	� �!	�C��C$��!�T�
	
!��C�!�������%�3�	O#$�������J��A�C%
�&� # &��	S����J� +3.3 A&"#S %�3�	O	��	 � I/O ���
!�T�% xx�Q 5 A&"#S J�� # &��	S�3����!����3#$� (Connector) UART0 (RS-232) ����&� 1 ��	S# 
(Port) %���	 ������	 Download Hex File �	������������	%���%�	 RS232  

 

 
 

����	
��� 3-72 ��	S� ET-ARM7 STAMP LPC2119 
 

 2) ���)'67
39�1��:84�7Z�[�B6 
	����2 2(�D8 ET-ARM7 STAMP LPC2119 
 %$&���@O��!�T�� &��%��� x�����	�&���3 !�����������!�T�#���!��C�A�	��	3!�������
J3A�	���A�	!"�	S ARM-7 3��&�3%�3�	O����	�&���3	
�����!�T�J�#�3���#�����	 
	�C"
!��C���	!��C�A�	��	3 %�3�	O% ����	��&C��3�B&!#�	S _$����	S#����	3 RS-232 �	��% ��
��	��&C��CS��� (Keypad) %�3�	O!	�C�����w��S� � (Function) �	��!"����$�	
����"
3�3 (Manual) 
����	�	 �3�3� @� 3 %$&����!#�C�J�� %�3�	O	
��3�3���%$&�;�� (Base section)J�� �"
!3���
#�����	�s� (Turn off) 	
��A�	��	3#���#	&�%��&$�3�3�CE$���$��	��3����
�s� (Turn off) 
�	��J3$�$������
"��&�3%E����!#�C�����CE$���$�!	B�3#��  

A�	��	3%���	 ���	S�J3A�	���A�	!"�	S ARM-7 ���A�	��	3 Keil �%��� �
����	
��� 3-37(a) ����	!��C�A�	��	3�&���3��&C��h�b��"
��3J�"S (Compile) !�������
!�T���3%��" .hex ���� @� File Download ��&CA�	��	3 LPC2000 �%��� �����	
��� 3-37(b)   
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(a) 

 
(b) 

����	
��� 3-73 (a) A�	��	3 Keil %���	 �!��C�A�	��	3 
          (b) A�	��	3 File Download �	�� LPC 2000  
 

 3) Flowchart ���)'67
39�1��:84�7Z�[�B6
	����2��2�G:)567���7Z�Q2	�2�8 �%��� �
����	
��� 3-74 
 

 
 

 
����	
��� 3-74 Flowchart ��	!��C�A�	��	3��&C��b�b�����	�&���3!#�C���C������� � 
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 ��	!��C�A�	��	3%���	 ���	S� ET-ARM 7 STAMP LPC 2119 3�� @�#����	������ 
#�3 Flowchart �%��� �����	
��� 3-74 �"
���%��� x����	!��C�A�	��	3#�����������	
!����3#$� (Interface) 	
�&$����3�B&!#�	S� ���	S�J3A�	���A�	!"�	S%�3�	O%���%�	� �J�� 
(Synchronous) � �� @�#����3$�C����� ��&
!&"������	%���%�	���3E" 

3.4.3 �@22'�2)��C?(
 (Drive system) 
 1) ���� �!�"����3�!#�	S�	
�%#	� 

��	�&���3�&�3!	o&���3�!#�	S��� Pulse width modulation (PWM) %$�% xx�Q���
J3A�	���A�	!"�	S ���� @�&��	�
� � Optoisolators !��	S QTC 4N24 !����� � TIP ����������	
�&���3��	�" ��BU�"
�	 �	
� ��&�3	o&���3�!#�	S �%��� �����	
��� 3-75 �	
�����&C 

- Optoisolators !��	S QTC 4N24 
- Q1, Q2 ��� TIP145 !�T��	��bB%!#�	S���bB"B��� (Silicon Transistor) ��B� PNP  
- Q3, Q4 ��� TIP141 !�T��	��bB%!#�	S���bB"B��� (Silicon Transistor) ��B� NPN 
!3�����	#�����	���3�!#�	S�3��#�3!�o3���B�����J��A�C��	%&B��S��� Q1 �"
 Q4 ON 

%�3�	O%&B��SA�C% �������	S# A �"
 C ���# & Optoisolators CNC1H101 �������"
 !3���
#�����	���3�!#�	S�3���&�!�o3 %�3�	O���J��A�C��	%&B��S��� Q2 �"
 Q3 ON bP��%�3�	O
%&B��SA�C% �������	S# B �"
 D ���# & Optoisolators CNC1H101 ������ ��	�������&�3!	o&���
J��A�C��	!�B�3-"��B&#�@Jb!�B" (Duty cycle) �%��� �����	
��� 3-75 

 

 
 

����	
��� 3-75 ������&��	� � (Drive) 3�!#�	S  
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_"��	%	���&��	���� �!�"����3�!#�	S�	
�%#	� �%��� �����	
��� 3-76 
 

 
 

����	
��� 3-76 _"��	%	���&��	���� �!�"����3�!#�	S�	
�%#	� 
 

 2) ���� �!�"����3�!#�	S�	
�%%" � 
��	�&���3��	�" ��BU���3�!#�	S���% xx�Q���J3A�	���A�	!"�	S ���!�T�% xx�Q

"��B� 1 �"
 0 3�� � Optoisolators !��	S QTC 4N24 ����	# �#$�����% 3_ %���	�!"CS!�����&���3
�	
�%���_$����"&� (Coil) ����3�!�#B�������!#�	S (Magnetic contactor) ����������	�&���3
��	%" �%�CJ����3�!#�	S �%��� �����	
��� 3-77 �	
�����&C 

- Optoisolators !��	S QTC 4N24 
- Relay 5A 240 VAC 
!3�����	#�����	���3�!#�	S�3��#�3!�o3���B�� ���J��A�C��	% �����J3A�	���A�	!"�	S

%$�"��B� �0� 3�C � P1 �"
%$�"��B� �1� 3�C � P2 �
������	�!"CS# &��� 1 ������ !3���	�!"CS#$�
����% 3_ %�
�������3�!�#B�������!#�	S (Magnetic contactor) 1 !����3#$� Line Neutron !���� �
%�CJ�!%��%����- �@��!�B� �"
 ��� ` !�"��� �
������3�!#�	S�3�����BU#�3!�o3� ����#�����	 �#$
���#�����	���3�!#�	S�3�����BU#	����3�o% �����J3A�	���A�	!"�	S%$�"��B� �1� 3�C � P1 �"

%$�"��B� �0� 3�C � P2 !����%" �%�C������3�!#�	S�3�����BU#	����3J�� 

 
P1     P2    G

Relay

Relay

Magneticcontactor

Magneticcontactor

Red

Blue

Black

Yellow

1
1

2
2

L    N

L    N

L    N

L    N

 
 

����	
��� 3-77 ������&��	� � (Drive) 3�!#�	S  
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_"��	%	���&��	���� �!�"����3�!#�	S�	
�%#	� �%��� �����	
��� 3-78 
 

 
 

����	
��� 3-78 _"��	%	���&��	���� �!�"����3�!#�	S�	
�%#	� 
 

3.4.4 5��5��J�o4 (Sensor)  
!"������A�!���BA�3B!#�	S (Potentiometer) ��� wire wound ��������������	& �3�3bP��3�

�&�3"
!��C�����	& �3�3%E� �"
�����@��������	#B�# @�J3$3�� ���%��� x!��������A�!���BA�3B!#�	S 
(Potentiometer) ��B���@����&�3% 3� �{S!�T�!�B�!%��%E�C��C �J�����_"��	��"�� bP����"��A�C
��	���A�!���BA�3B!#�	S (Potentiometer) ��� wire wound 3��$�CJ� 5A&"#S �"�&& ��$��	�� ���
�#$"
3�3���A�!���BA�3B!#�	S (Potentiometer) �%��� �����	
��� 3-79 

 
����	
��� 3-79 A�!���BA�3B!#�	S (Potentiometer) 
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�	����� 3-1 �&�3% 3� �{S	
�&$���	�� � (A&"#S) � �3�3��� Potentiometer (��U�) 
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 ����	����� 3-1 %	��J��&$� �&�3% 3� �{S	
�&$���	�� �� �3�3�#$"
��U���� A�!���BA�
3B!#�	S (Potentiometer) 3��&�3!�T�!�B�!%��%E�	
�&$��3�3��� 20��U�-290 ��U� �P�%�3�	O���3����
!�T�# &#	&�	E� (Sensor) #	&�� �3�3���!#�C� A�C�$��	�� �����#$"
3�3�
3��	�� �����#�#$��� �
#�3�&�3% 3� �{S#�3_"��	��"��  
 

3.4.5 1����J��7_HHq� (Power supply)  
 1) ��"$��$�CJ��u� 24 A&"#S (Power supply 24 V) 
 �$�C���� �3�!#�	S�	
�%#	� 24 A&"#S ��������	
��� �!�"���� A�C��	����	
�%J��u� 
220 A&"#S_$���3����"���"��	�� � ���� @�_$��&��	�	B��S (Bridge) ��� Single phase        
full-wave ������!�T�J��u��	
�%#	��"
_$��# &!�o��	
��!��������	�� �!	�C��P@� �%��� �
����	
��� 3-80 
 

 
 

����	
��� 3-80 ��"$��$�CJ��u� (Power supply) 24 A&"#S 
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_"��	%	���&��	��"$��$�CJ��u� 24 A&"#S (Power supply 24 V) �%��� �����	
��� 3-81 
 

 
 

����	
��� 3-81 ��"$��$�CJ��u� (Power supply) 24 A&"#S 
 

 2) ��"$��$�CJ��u� 12 A&"#S (Power supply 12 V) 
 �$�C���� ���	S�J3A�	���A�	"!"�	S����������	�	
3&"_" A�C��	����	
�%J��u� 
220 A&"#S_$���3����"� ���� @�_$��&��	�	B��S (Bridge) ��� Single phase full-wave ������!�T�
J��u��	
�%#	��"
_$��# &!�o��	
��!��������	�� �!	�C��P@� �%��� �����	
��� 3-82 
 

 
 

����	
��� 3-82 ��"$��$�CJ��u� (Power supply) 12 A&"#S 
 

_"��	%	���&��	��"$��$�CJ��u� 12 A&"#S (Power supply 12 V) �%��� �����	
��� 3-83 
 

 
 

����	
��� 3-83 ��"$��$�CJ��u� 12 A&"#S (Power supply 12 V) 
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3.5 3���
�4��)567���7Z�Q2	�2�8N6?)
�rJ
:2o��D 

 �" ������	������A�	�%	���!%	o�%B@� ���� @�J���	
���A�	�%	���� �	
��
� �!�"�����"
��"��� �!�"����!�����E�&�3	��!	�C�����	!�"������� bP��_"��	��%����&$� 
	
����	!�"����������%$&��CE$��!�Q�S�� ���� @��oJ���������"
%	���%$&��	
�������	
�&���3 !�$� 	
��� �!�"���� 	
��# &#	&�	E� (Sensor) 	
���&���3��&C�wbb��"��B� (Fuzzy logic) 
bP��	
������C$���	��3����
�������	��"����� @�#��#$�J� A�C	E����A�	�%	����"
	
��
�&���3���!#�C���C������� ����%3�E	QS �%��� �����	
��� 3-84 
 

 
 

����	
��� 3-84 	E����!#�C���C������� ����%3�E	QS 
 


